
Multiply and Divide by 10⁻³ (I)Find each product or quotient.
33 × 10⁻³ = 38 : 10⁻³ =
60 : 10⁻³ = 23 : 10⁻³ =
15 × 10⁻³ = 59 : 10⁻³ =
75 : 10⁻³ = 83 : 10⁻³ =
32 : 10⁻³ = 77 : 10⁻³ =
3 × 10⁻³ = 70 × 10⁻³ =
5 × 10⁻³ = 21 × 10⁻³ =
19 : 10⁻³ = 67 : 10⁻³ =
12 : 10⁻³ = 60 × 10⁻³ =
59 × 10⁻³ = 47 × 10⁻³ =
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Multiply and Divide by 10⁻³ (I) AnswersFind each product or quotient.
33 × 10⁻³ = 0,033 38 : 10⁻³ = 38.000
60 : 10⁻³ = 60.000 23 : 10⁻³ = 23.000
15 × 10⁻³ = 0,015 59 : 10⁻³ = 59.000
75 : 10⁻³ = 75.000 83 : 10⁻³ = 83.000
32 : 10⁻³ = 32.000 77 : 10⁻³ = 77.000
3 × 10⁻³ = 0,003 70 × 10⁻³ = 0,07
5 × 10⁻³ = 0,005 21 × 10⁻³ = 0,021
19 : 10⁻³ = 19.000 67 : 10⁻³ = 67.000
12 : 10⁻³ = 12.000 60 × 10⁻³ = 0,06
59 × 10⁻³ = 0,059 47 × 10⁻³ = 0,047
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